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I.   Introduction

In macroeconomics, there has always been a debate between Keynesians and classical economists (now called neoclassicals) on what the proper economic role of the government should be.  After all, macroeconomics began as an attempt to understand the causes of the Great Depression of the 1930s and to formulate government policies that might end it.  Ever since that period, the major economies of the world have experienced various episodes of recessions (the most recent of which we are witnessing today, mainly in the U.S. but also elsewhere around the world).  Although recessions are often eventually reversed, that does not reduce their severity or the fact that they often cause serious social and political problems.  

What do Keynesians and neoclassicals differ on?  We can summarize those differences in a few simplified statements.
Recall that Keynes’ response to the Great Depression was a greater role for government, mainly in the form of increased expenditure on goods and services.  Today, Keynesians generally believe that the economy will fluctuate too much if left on its own, and that the government should smooth out these fluctuations in the business cycle.  In general, they have little faith in the “laissez-faire” philosophy, and think that government intervention is often necessary in order to ensure adequate employment.
Before the Great Depression, classical economists believed in the market’s ability to be self-regulating through the invisible hand (the pricing mechanism of the market). Short-run problems were seen as temporary glitches.  The classical framework argued that the economy would always return to its potential output and its natural rate of unemployment in the long run.  Thus, the essence of the classical economists’ approach to problems was laissez-faire (leave the market alone).  

The Great Depression challenged the classical ideology (as explained before), and that framework underwent numerous modifications as a result over the next several decades.  These modifications attempted to maintain the general “laissez-faire” framework of the classical theory while allowing for some flexibility regarding when it is “OK” for governments to interfere.  We cannot go into any of those modifications and exceptions in detail here, as this requires a more advanced knowledge of economics.  However, we can summarize by saying that today’s neoclassicals still claim that (in general) government spending is incapable of stabilizing the economy, and that it is often wasteful.  The neoclassical school still calls for minimizing government policies that aim to influence the economy.  [Government intervention is only acceptable under certain severe circumstances.  For example, in the recent financial crisis that gripped the US economy in 2008-2010, Keynesian economists called for government action and neoclassical economists accepted that as being essential.  Keynesians would argue that any recession, regardless of its size, necessitates government action.  Many Keynesians are now even advocating a tighter government control of the economy as a whole (not only a reactive role during recessions) so that future recessions may be avoided.]
Side Note (FYI Only):  To give some examples of the recent global experience, the US government injected a fiscal stimulus package of approximately $850 billion into the economy to combat the current recession.  Furthermore, another $700 billion were used for bailing out several failing banks in order to prop up the banking sector.  The Chinese government stimulated its economy with a $550 billion package, and Japan’s government spent over $200 billion.  Add to that what the different European governments are doing and we have at least $4 trillion of additional government spending worldwide.  Economists everywhere agree that this is an unprecedented wave of government activism, and many think that governments in most developed nations will soon be exerting more influence over business than ever before, all in a feverish attempt to reverse the downtrend and prevent such massive recessions from happening again.
This chapter will first present an expanded Keynesian model of macroeconomic fluctuations and equilibrium that incorporates government spending and taxation.
There are three government spending and revenue items: a) spending on goods and services, b) taxation (revenue collection), and c) government transfers (such as welfare payments,  unemployment compensation, social security payments, and some pension payments, etc).

II.  The Expanded Equilibrium Income Model

Start by replacing the definition of planned aggregate expenditure which we studied in the previous chapter,
PAE = C+PI 

with 

PAE = C+PI+G 

Remember:  For the economy to be in equilibrium Y must equal PAE.   This means that PI must equal I.    In other words, the actual investment that occurs must equal the investment that was planned.  Otherwise, the economy would not be in equilibrium, we would have some unplanned investment (positive or negative unplanned inventories), and production adjustments will have to be made. 

Also remember that G is government purchases of goods and services. We will treat it as a component of autonomous spending (just like we had treated autonomous consumption, a, and planned investment, PI, in the previous chapter). 
We will use the multiplier approach to get the equilibrium output/income.

For a numerical example, assume again that the marginal propensity to consume is 0.7, autonomous consumption is 500, and planned investment is 1000.  To these items let us now add 500 of government purchases. 
For now, assume there are no taxes: all government spending is deficit spending financed by borrowing.   
[The term “deficit spending” is used often in policy discussions.  Government may either adopt a “balanced budget”, where all spending is financed with taxes, or go with deficit spending, which basically means that any spending not covered by taxes must be covered by borrowing. To borrow the government issues new bonds.  These bonds add to the government debt.]
The autonomous part of expenditure is now is a+PI+G, which is 500+1000+500=2000. 
With an MPC=0.7, the multiplier is 1/(1-0.7) = 3.33. 

Using those facts we can compute the equilibrium income for this example: 

(1/1-b)*(a+PI+G). 
Equilibrium income: Y*= 3.33*2000=6666.67. 

Let’s visualize the model graphically. 

The diagram shows the C+PI curve (which represents consumption plus planned investment at different levels of output) and adds G to it to get the new total expenditure curve: C+PI+G. 
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As before, the equilibrium is at the point where the planned expenditure line, C+PI+G, intersects the 45o line. 

III. The Role of Government in the National Economy

It's a good idea to pause every now and then and ask: What is the point of all this? Where is it going? 
In Keynesian macroeconomics, the point is unemployment. 
Understanding unemployment as a shortage of demand for (or excess supply of) labor, and considering unemployment as a social problem, the point is 
1) to understand how such a problem can arise in a market economy, and 
2) to suggest how the problem might be solved or made less serious. 
Up until now we have been concerned with diagnosis: why does the problem of unemployment arise?   
The answer we obtained from the Keynesian cross model is that unemployment occurs when aggregate output is higher than planned aggregate expenditure (i.e. what the economy produced is more than what the different entities that make up the economy had wanted or demanded).  This disequilibrium requires a reduction of production, which often causes firms to lay off workers.  [Remember that in the classical framework before the Great Depression this problem was thought to be automatically resolved by wages dropping down until demand for labor again equaled supply of labor.  In the Keynesian model, on the other hand, wages are not assumed to be flexible in the short run.  Therefore, price/wage adjustments will not work.  The economy must make “quantity” adjustments instead (i.e. either produce more or produce less).]
As an example (and to review what we learned in the previous chapter), consider the following scenario:  
CLASS:  Draw the scenario described below as an exercise to make sure you know how to do this sort of analysis!
The economy starts at a “full-employment” equilibrium where Y1=PAE1.  Something then happens (war, political unrest, stock market crash, etc.) that leads to a substantial reduction in a (autonomous consumption) or PI.  Let’s consider the case where the change is in a. 
The decrease in a causes a downward shift of the PAE line.  Now we have a new PAE2 (lower than the old PAE1 line by exactly Δa). [DRAW IT!!] 
The economy’s output is Y1 but planned aggregate expenditure is PAE2. Therefore, there exists a gap between Y1 and PAE2.  
What is going to happen next?
We need to calculate the new equilibrium, Y*, where aggregate output is again equal to planned aggregate expenditure. 
To calculate the amount by which Y will have to drop in order to reach a new equilibrium, we can use the multiplier formula:

ΔY = [1/(1-b)] x  Δa
The initial decrease of Δa leads to multiple decreases in Y.

To understand what has happened, let us trace the successive changes in Y.  

1) The first change is Δa (from the fact that C has initially changed by Δa, and C+I=Y).  So if C initially drops by Δa, Y drops by the same amount (i.e. ΔY= Δa) .
2) The next change occurs due to the fact that C is a function of Y.  Therefore, when Y decreases by Δa, C will decrease again by bΔY.  [This comes from the fact that C =a+bY].

3) This then leads to a further drop in Y (=C+I), which leads to a further drop in C (=a+bY), and so on and so forth.  
Main Point: There is a circular relationship between the consumption function (C =a+bY) and the output identity (Y=C+I).  

             ------------------------------------------------------------------
Now we have come to a point where we can prescribe solutions. 

Keynesian economics understands unemployment as a macroeconomic problem, a problem of the economic system as a whole, so it must be addressed by the one agency that can have an impact on the whole economy: the national government. 
What we have just seen is that a change in government purchases of goods and services can influence the equilibrium income in the economy. An increase in equilibrium income means more jobs. So it makes sense for the government to spend more money in order to increase aggregate demand.  When this happens, PAE will shift up, and this leads to an increase in equilibrium output/income. 

CLASS:  Again, as an exercise, draw the scenario where the PAE line shifts up and Y increases to make sure you understand how it works.

So according to Keynesian diagnosis, if aggregate demand is inadequate, the government can boost it by increasing its own purchases of goods and services. 

When the unemployed are hired in order to satisfy the additional government spending, they are made better off and they will consume more.  This will have a multiplier effect on equilibrium income:  The additional consumption creates income for other people, who will in turn spend most of their income and create still more income for other people. That's the way the multiplier works!
The increased government spending is a form of fiscal policy.

Terminology

We define “Fiscal Policy” as follows:

Fiscal policy comprises taxation and spending modifications undertaken by a government with the intentional purpose of influencing the level of production and employment. 

A policy that increases government spending (G) and/or reduces taxes is called expansionary fiscal policy.  This policy leads to an increase in equilibrium output.  Alternatively, policy that reduces spending and/or increases taxes is called contractionary fiscal policy.  This policy leads to a decrease in equilibrium output. [Such a policy may be contemplated by a government that is running a surplus, or when the economy is experiencing inflation.]
Finally, government spending and taxation that are not intended to influence the economy are sometimes collectively referred to as neutral fiscal policy.  This includes routine government spending (on ministries and regular services) and routine taxation (when there are no changes required due to the conditions of the economy).

When economists talk about fiscal policy, they are really referring to government spending and taxing that are intentionally changed in response to the state of the economy, particularly those that change as a result of intentional choice on the part of the government.  Routine government business is not considered fiscal policy.  [To make this easier to understand you may consider an unchanging G to be routine government spending.  If the government then implements an expansionary fiscal policy to combat a recession, government spending will increase to G + ΔG.  In this case, the ΔG may be regarded as the fiscal policy part.  A similar analogy may be used to T.]
While fiscal policy refers to intentional spending or taxing changes, not all changes are intentional.  There are certain categories of government spending and revenue that may change automatically when the economy undergoes expansions and contractions.  This is called automatic stabilization (and the categories of spending and taxing that are involved are called “automatic stabilizers”).  They will be discussed in greater detail later in this chapter.
For now, let us summarize as follows: 

Government spending and taxing can be conceptually divided into two parts: 

a) A part that does not change with the state of the economy (i.e. it follows previously established budgets/plans in line with routine spending)

b) A part that changes with the state of the economy.  This is the true essence of “fiscal policy”.  Within this last part, we may distinguish further between: 

i)  discretionary fiscal policy (which comprises intentional spending and taxation changes) and 

ii) non-discretionary fiscal policy (which comprises unintentional spending and taxation changes, also known as “automatic stabilizers”). This comprises the transfer payments mentioned above and income taxes that may change during expansions and contractions without intentional government decision. 
As already mentioned, when economists discuss “fiscal policy”, they are usually referring to the discretionary type (the “ΔG” and/or “ΔT”).  However, the non-discretionary fiscal items mentioned above are an important part of the government’s role in the economy, even though they may not attract as much attention as the discretionary action items.
Important Note on Variables:  In what follows, the variable G refers to government purchases of goods and services.  G does NOT include transfer payments as these are not part of GDP (as will be explained later).  The variable T refers to income taxes.
Calculating the Required Level of Government Spending

Let us illustrate how changes in G lead to changes in Y with a numerical example. For this example, assume: 

	C = 250 + 0.7*Y

	G = 250

	PI = 1000


Thus, autonomous spending is 250+250+1000=1500. As before, the multiplier is 
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= 3.333. 

Equilibrium income is 

3.333*1500 = 5000.

Let us suppose that the government determines that there is about 7% unemployment, which it considers to be unacceptable. 
Suppose, further, that government economists calculate that the economy would be at "full employment" if equilibrium aggregate output were increased from 5000 to 6000.  

This means we need another 1000 of aggregate output/income in order to reduce unemployment down to an acceptable level.
The government proposes to do this by increasing government purchases. 
The question is: 

How much must government purchases increase in order to reach the income target? 

Let us do some algebra to figure it out. 

Let ∆G be the unknown increase in government purchases. Using the multiplier approach the increase in equilibrium income is 

∆Y = ∆G * Multiplier 

or                  ∆Y = ∆G * 1/(1-0.7) = ∆G * 3.333. 

We want an increase of equilibrium income (∆Y) in the amount of 1000, so we have 

∆G * 3.333=1000 

Solving for ∆G we get 

∆G =1000/3.333 = 300 

So, the government should increase its spending by 300 in order to get equilibrium income up to the target level of 6000. 

Let's check the answer in a different way. 
With the additional government spending, G is up from 250 to   250+300 = 550. 
At this level, total autonomous spending is 250+550+1000=1800. 
Equilibrium income is 1800*3.333. =6000. 

In the simple Keynesian model, the government can fine-tune its spending to get the equilibrium income that will lead to full employment. 
Here is the way it looks in a diagram:

The lower PAE line shows the situation before the government intervention with PAE=C+PI+G1. Government purchases are at 250 and equilibrium production is at 5000.   But this is an “unemployment equilibrium”. 
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Fiscal Policy

After the increase in government purchases, the government spends 550 and the new total expenditure line is C+PI+G2 (which is shown as the higher PAE line).  

In other words, the PAE line shifts up with the higher government spending.
This leads to an increase in equilibrium income up to the full employment target of 6000 (or whatever). 

IV.  Adding Taxes to the Model
Of course, this version of the model is unrealistic because it leaves out taxes. 
Accordingly, our next step will be to complicate the model a little more, by introducing taxes. 

We now have to distinguish between income before taxes and income after taxes. The term we use for income after taxes is "disposable income". 

We will use disposable income in the consumption function from now on. 
The consumption function will be 

C = a + b(Yd) = a + b(Y-T) 

where T is taxes and Yd is disposable income, C is consumption, Y is income (before taxes) ‘a’ is autonomous consumption and ‘b’ is the marginal propensity to consume. 

Therefore, consumption is determined by "disposable income." 

For example, if the propensity to consume is 0.7, then $100 of additional taxation will reduce consumption expenditure by $70. This in turn will reduce equilibrium spending through a multiplier effect. 
As usual, we will want to look at that both algebraically and graphically. 

Starting from the equilibrium condition
Y = C + PI + G 

and the consumption function
C = a+b(Y-T) 

We obtain:  



Y = a+b(Y-T) + PI + G

Notice that taxes act on aggregate spending and income indirectly, through the consumption channel, whereas the other items (PI and G) act on it directly.
Now we can solve for Y* and get a slightly different "Multiplier Formula:" 
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The difference between this formula and the one we saw previously is: 
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This tells us two things: 

· That taxes reduce equilibrium income and expenditure (the minus sign). 

· That each dollar of additional taxes cuts equilibrium income by [image: image6.png]


dollars.
We call the quotient –b/(1-b) the "tax multiplier."  
More generally, remembering that in our model ‘b’ is the marginal propensity to consume, the tax multiplier can be written as – MPC/(1-MPC)  or  –MPC/MPS.  Note that tax multiplier has a smaller absolute value than the standard expenditure multiplier (1/1-b), given that we are assuming an MPC<1.

Equilibrium with Taxes: A Numerical Example

To illustrate equilibrium with taxes, we will again use the example consumption function, 

C = 500 + 0.7*(Y-T) 

where C is consumption, Y is income before tax, and T is taxes. 
We will also assume that 

PI=1000 

G=500 

T=500 

Since we want to compare the equilibria with and without taxes, first calculate the equilibrium without taxes. 
Using the multiplier of 3.333 and adding autonomous consumption of 500 to investment of 1000 and government purchases of 500 we have 

Y = 3.333*(500+1000+500) = 3.333*2000 = 6667 

Now let's see what impact the taxes have. Remember, taxes work indirectly by reducing consumption. 
Our consumption function is 

C = 500 + 0.7*(Y-T) = 500 + 0.7*Y - 0.7*T 

And since T=500 that is 

C = 500 + 0.7*Y - 0.7*500 = 500 + 0.7*Y - 350 = 150 + 0.7*Y 

We can now plug this new a into [a + PI + G] and recalculate Y* using the standard multiplier formula. 

Y = 3.333*(150+1000+500) = 3.333*1650 = 5500 

This means that the introduction of a tax of 500 (billion dollars) has reduced equilibrium income by 1167 (billion dollars), from 6667 to 5500. 

An alternative way to get the equilibrium with taxes is to use the expanded multiplier formula with the tax multiplier added.
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In this example, that is
Y = 3.333*2000 - 2.333*500 = 5500. 

As usual, we can visualize that with an equilibrium diagram.

Here is a diagram set up in the usual way -- with income on the horizontal axis and the components of planned expenditure on the vertical axis. The 45 degree line, in blue, will help us to spot the income at which planned expenditure is equal to income, that is, the equilibrium. 
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Equilibrium with Taxes

In the figure, planned expenditure without taxes is shown by the upper PAE line. Equilibrium without taxes is where that line intersects the 45 degree line and is shown by the vertical red line on the right -- at 6667 billion dollars. 
Expenditure after taxes is shown by the lower PAE line.  In this line C has been replaced by C-bT, since now the consumption function is C=a+b(Y-T), which differs from the original consumption function by –bT.

Important Side Note: Using the above figure, you should draw for yourselves (as an exercise) a similar scenario, where, starting from a certain level of government expenditure and taxes, increasing government expenditure raises the PAE line by ΔG, while increasing taxes lowers the PAE line by bΔT.

The new equilibrium, where that line intersects the 45 degree line, is shown by the vertical red line on the left, at 5500. 
The Leakages/Injections Approach to Equilibrium Again:

When we add government spending and taxes to the model, we must consider both savings and taxes as leakages (out of the spending stream).  On the other hand, we now have both investment and government expenditures as injections.  

We can rewrite the equations from the previous chapter:

Y ≡ C + S + T (which is an identity that tells us that a first chunk of the total national income received by households goes to the government in the form of income taxes, and the rest is divided between consumption and savings)

And we also have:

PAE = C + PI + G (by the definition of aggregate expenditure)

This means that for PAE = Y, we must have PI+G=S+T 

In other words, the equilibrium condition seen from this perspective is: total injections equal total leakages
V.  The "Balanced Budget Multiplier."

Suppose the government keeps a balanced budget, increasing both spending and taxes by the same amount, B (for Balanced Budget). 
At first, it may seem that this would leave equilibrium output/income unchanged --that the increase in taxes would just offset the increase in government purchases. 
But this is not true because the absolute value of the government expenditure multiplier exceeds the absolute value of the tax multiplier [1/(1-b) > b/(1-b)].
Suppose, for example, that we start off with no government purchases or taxation, and then both taxation and spending are increased to 500. That is, B goes from zero to 500. As usual, our numerical example will use the consumption function 

C = 500 +0.7*(Y - T) 

and we will assume that PI is 1000. 
With B = G = T = 0, we have autonomous spending of 1500 (which is a+PI), and a multiplier of 3.333, so equilibrium income is 

3.333*(1500)=5000, 

as we have seen in earlier examples. 

Now both government purchases, G, and taxes, T, increase to 500. 
To get the equilibrium income, we will have to use both the autonomous spending multiplier, 3.333, and the tax multiplier, 2.333 in this example. Recall that the tax multiplier is –MPC/(1-MPC).
Autonomous spending is 

a + PI + G = 500 + 1000 + 500 = 2000, 

so using the multiplier formula 
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equilibrium income is computed as 

Y = 3.333*2000 - 2.333*500 = 5500. 

We see that after government purchases and taxes are introduced -- even though the budget is balanced -- equilibrium income is increased, and it is increased by exactly the amount of the balanced budget.  Let us denote this balanced budget by the variable B.
What has happened here? 
The increase in G increases equilibrium income by 
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while the increase in T cuts equilibrium income by 
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The net increase in equilibrium income is the difference, 
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It turns out that 
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) 

is one -- so the difference, the net increase in equilibrium income, is exactly B (=ΔG=ΔT)
Another way of putting this is to say that, in the simple Keynesian model, the balanced budget multiplier is one.  

(Again, remember, the balanced budget multiplier = 1) 
This means that one dollar of additional spending coupled with one dollar of additional taxation will increase equilibrium income by one dollar. 

VI.  Government Debt and Deficit

In some of our examples so far, we have assumed that the government runs a deficit in order to stimulate expanded aggregate demand and increased equilibrium production. In such a case, government spending is financed (at least partly) by borrowing. However, many people regard the government debt and government deficits as problems in themselves. 
Let us first distinguish between government debt and deficit.

Debt is a stock variable: the cumulative amount that the government owes the public to date. Deficit is a flow variable.  When government expenses exceed government revenues this year, the difference between the two is the deficit. 

[Note that the government may also run a surplus, in which case its revenues exceed its expenses during a certain year.  Running a surplus, however, would not mean the debt disappears, because the debt is cumulative, while deficits and surpluses are for specific years only.]
Why are debts and deficits considered to be problems?  After all, government debt does not have to be repaid immediately.  Even when government bonds mature, they are usually “refunded” by selling new bonds (to raise money to repay the old bonds).  
The reason involves the interest on the debt. 
The government needs to make interest payments EVERY year.  This is called the “debt service”, and it is a real and immediate burden.
Why is it a burden?  Here’s why:
· Taxes must be collected to pay the interest on the outstanding debt.
· If the debt and the debt service increase more rapidly than production itself, then aggregate income will fall short of generating enough taxes to repay this debt.  At that point, new debt will have to be issued in order to pay the service on the old debt.  This may turn into a vicious cycle (ex. Lebanon).
· Many economists also worry that government borrowing crowds out private borrowing for investment.  This causes investment to decline on the long-run, so less jobs can be created and people are worse off in the future. 

Since there are good reasons to be concerned about government deficits and debt, we might wonder why large deficits have been so common, despite the fact that “conservative” governments have been in power in many advanced countries in recent times (e.g. the U.S. under the Bush Administration and several countries in the European Union).  These governments had come to power promising to reduce deficits, but they failed to do so. 
Perhaps the simple Keynesian model has the answer to that question: if increased government expenditures really do stimulate aggregate demand (hence output), then they are worth the trouble.  In other words, if increasing G gets the economy moving again, then let’s do so even if we must borrow and increase the debt as a result.  Eventually, the hope is that a larger GDP brings in larger taxes which help pay back the debt.
VII. Automatic Stabilizers
First: Define “Government Transfers”:
We said previously that the symbol G stands for "government purchases of goods and services." 

Actually, there are two kinds of government spending: 

Government purchases, G 

The government buying aircraft for the military or computers for the public university, or contracting with engineering firms to build highways or develop a telecommunications system, or paying public servant salaries are all example of "government purchases."  They directly increase the demand for goods and services.  They are an “integral” part of aggregate demand or planned aggregate expenditure, and we have seen how they come into the simple Keynesian model in this chapter. 

Transfer payments, TP 

Transfer payments are payments the government makes to persons just to increase their incomes, such as aid to poor families with children (collectively known as “welfare”), unemployment compensation, social security payments, and some types of pensions. These payments increase demand for goods and services only indirectly, in so far as the people who receive them spend the payments on consumption goods.  So they affect aggregate spending through the consumption channel just like taxes.  [Note: They are not an integral part of aggregate demand because no goods or services are exchanged.  The government is NOT buying final goods and services.  Rather it is using the taxes paid by some people to assist other people, hence the term “transfer payments”.  This also means that TPs are not an integral part of GDP calculations.] 
How are transfer payments determined?

There are two things the government does to determine the amount of transfer payments (sometimes also known as entitlement payments):

1) The rate at which compensation occurs:  This involves determining the rates that apply for various government benefits: unemployment, social security, medical insurance for the elderly, aid for poor families, etc.

2) The eligibility criteria:  This involves determining rules for eligibility (who can benefit?).  Examples include:  a) families who earn under a certain income ceiling, b) elderly people over 65, c) unemployed persons who have been laid off due to a recession and the number of months for which they may qualify.

Once the government makes these types of decisions, they are implemented automatically.  The rates and the criteria are seldom changed (although they might be revised once every few years).
Transfer payments are an offset against taxation.  In other words, while people pay taxes to the government on one hand, they (or others) may receive transfer payments from the government on the other.   So we have to deduct the transfer payments from the taxes.  Therefore, from now on "taxes" should stand for “net taxes” which are taxes net of transfer payments.  This means that the disposable income Yd is really Y – (T – TP) (or simply Y-T+TP).  
Second: Define “Progressive Taxes”:

“Progressive” means that the tax rate is higher on higher incomes. Thus, when income in general increases, more people are in the higher tax brackets, and so the average tax rate is higher.  Income taxes in the U.S. and most advanced economies are of this type.  [Note that income tax in Lebanon is also progressive but to a much lesser extent than it is in the U.S. or Europe.]
Again, just like with transfer payments, once tax rates on different income brackets are established, they are not often changed.  
Third: Define Automatic Stabilizers

As stated at the beginning of this chapter, when a government deliberately changes its spending or taxation policies in order to influence aggregate demand, we call that “discretionary fiscal policy.”   
But there is another, more automatic way that helps the economy adjust.  This takes place mostly through the non-discretionary spending and taxation items such as transfer payments and income taxes (especially when they are “progressive taxes”).
Note the following:
· When income increases in an expansion, the automatic increase in progressive taxes plays a stabilizing role in slowing down this increase (i.e. it detracts from the increase).  Why? Because higher taxes mean lower consumption, so the increase in equilibrium income is held back.  And visa versa in the case of decreases in income due to a recession.
· On the other hand, when income drops, many types of transfer payments rise automatically. Unemployment compensation, income supplements, and welfare for poor people are examples. When income drops, there are generally more poor people eligible for these transfers and services, so this type of government spending increases (automatically).  This automatic increase in government payments plays a stabilizing role as it slows down the decrease in income.  The opposite occurs when income increases during an expansion:  transfer payments tend to decline.
These taxes and transfers are automatic stabilizers of the economy.   
The revenues and expenditure items over which the government has no direct control are mostly a function of the state of the economy.  These are collectively called non-discretionary fiscal items.  The only way they may change is for the government to change the applicable rates and/or the eligibility criteria, which does not happen frequently.
When the economy expands, some revenues increase automatically (income taxes), and some expenditures decrease automatically (welfare payments).  No government decision is needed because they are already built into the system.  The higher taxes and lower transfers act like moderators of the expansion.  They dilute the expansion, causing it to be less than what it could have been without these effects.
Conversely, when the economy contracts, some revenues decrease automatically (income taxes), and some expenditures increase automatically (welfare payments and unemployment compensation).  In this case, the lower taxes and higher transfers act like moderators of contraction.  They dilute the contraction or recession, causing it to be less than what it would have been without them.  

As an example, think of what happens when the economy goes into a recession, perhaps because of a sudden drop in autonomous consumption or investment.  This could be due to a variety of reasons: feelings of uncertainty, terrorism, wars, a sudden increase in the price of world oil, or whatever. 
A recession means that GDP (Y) drops.  Income taxes drop with the decrease in income, and this decrease in taxes has a multiplier effect, partly offsetting the drop in the autonomous consumption or investment, so that equilibrium income doesn’t decline as far as it could.
Concurrently, the transfers to and services for the poor increase, and these too have multiplier effects and tend to offset the drop in autonomous consumption. Thus, equilibrium aggregate demand drops less than it would have without the automatic stabilizers.  Some stability is maintained as a result. 

On the whole, these automatic stabilizers are a good thing. If the government has to pass a law to cut taxes in a recession, for example, that can be a time-consuming process.  If the government cuts tax rates, by the time this has an effect, the recession may very well be over and a boom may already be taking place.  
So they act as immediate supplementary aids to a government wishing to combat a recession (or one wishing to combat an inflation-causing expansion)

Another thing these automatic stabilizers do is they act on the size of the fiscal deficit.  If there is a recession, the fiscal deficit (G-T) will increase automatically (Students: Make sure you understand why based on the above concepts!!).  

Similarly, if there is an expansion the size of the deficit will decrease automatically. 

So, to summarize:  

Automatic stabilizers dilute economic recessions and expansions.
IMPORTANT DEFINITION: 

FISCAL DRAG
Fiscal drag is a term used to describe the situation when, during an expansion, a negative effect occurs because average tax rates increase due to people moving into higher income brackets.  This then acts as a drag on the expansion.
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